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S-Plus

> eigen(SDF4)

$values:

[1] 0.99999996 -0.99999996 -0.12880801 0.12880801 0.03111925-0.03111925 0.00000000
$vectors:

V1 V2 V4 V3 V6 V7
10.7046683 -0.7649685 0.06891666 -0.03121161 0.59951274 2.2165272 -4.065469e-001
2 0.1587919 -0.1723801 -0.23745900 0.10754261 -0.59711591 -2.2076656 3.630606e-001
30.4448722 -0.4829410 0.21982190 -0.09955496 -1.50933327 -5.5803289 7.606516e-001
40.2953212 -0.3205925 -0.05127952 0.02322394 1.50693629 5.5714668 -7.171652e-001
50.4674789 0.5074823 0.75758172 0.34310056 0.79142534 -2.9260693 -4.024558e-016
6 0.3739654 0.4059666 0.13727007 0.06216813 -0.82427337 3.0475155 -7.632783e-017
70.7622092 0.8274334 -0.89485188 -0.40526872 0.03284802 -0.1214462 4.510281e-016

> eigen(SDF2)

$values:

[1] -0.9394044+0.00000000i 0.9394044+0.00000000i 0.0000000-0.18006310i
[4] 0.0000000+0.18006310i 0.0000000-0.08067256i 0.0000000+0.08067256i
[7] 0.0000000+0.00000000i

$vectors:

V2 V1 V4 V3
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1-0.7725794+0i 0.7380288+0i -0.1913566+4.336809e-018i -0.1913566-4.336809e-018i

2 -0.2321190+0i 0.2217384+0i -0.0024937+1.084202e-018i -0.0024937-1.084202e-018i

3-0.3300757+0i 0.3153144+0i 0.4006440+1.517883e-018i 0.4006440-1.517883e-018i

4 -0.3881582+0i 0.3707994+0i -0.1855670+2.168404e-018i -0.1855670-2.168404e-018i

5 0.5800777+0i 0.5541361+0i 0.0000000-2.810021e-001i 0.0000000+2.810021e-001i

6 0.4518674+0i 0.4316594+0i 0.0000000-5.404391e-002i 0.0000000+5.404391e-002i

7 0.8021238+0i 0.7662520+0i  0.0000000+4.529309e-001i 0.0000000-4.529309e-001i
V7 V6

1 -3.330669e-016+2.182176e+000i -3.330669e-016-2.182176e+000i 1.171561e+000+0i

2 -5.551115e-017-1.451933e+000i -5.551115e-017+1.451933e+000i -7.787837e-001+0i

3-1.110223e-016-8.159069e-001i -1.110223e-016+8.159069e-001i -1.624432e+000+0i

4 -1.665335e-016+1.012781e-001i -1.665335e-016-1.012781e-001i 1.231654e+000+0i

5 2.752302e+000+0.000000e+000i 2.752302e+000+0.000000e+000i 0.000000e+000+0i

6 -2.220869e+000+0.000000e+000i -2.220869e+000+0.000000e+000i  2.775558e-017+0i

7 -7.249829e-001+2.220446e-016i -7.249829¢-001-2.220446e-016i  0.000000e+000+0i

> eigen(SDF1)
$values:
[1]1000000
$vectors:

V7 V6 V5V4V3V2V1
11.000000 0.000000e+000 0.000000e+000 0 0 0 O
2 0.750000 0.000000e+000 8.906702e-016 0 O O O
30.250000 1.018589e-015 0.000000e+000 0 O 0 O
40.435000 -1.000000e+000 -1.000000e+000 1 0 0 O
50.106800 -3.453018e-001 -2.164329%-001 0 0 1 O
6 0.270975 -7.150497e-001 -5.960811e-001 0 1 0 O
70.187225 -4.861217e-001 -4.141617e-001 0 0 0 1

<- SDF5[,1]
<- SDF5[,2]
par(mar=c(7,4,0,0))
plot( , ,sub="¥n 6 B "

text(locator(1),"t1 ")
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text(locator(1),"t2
text(locator(1),"t3

text(locator(1),"t4
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